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a—F i % P&itR (kg) %8 (M) =il o i £l PE i (HAL)
Y3002 =4 () 4 3, 229 1,458 540 540 | B 4kg
31200 | |LH3E 8 2,311 65 65 32| B 423
31412 U 1 194 65 65 65 | N 3
Y3015 7 XU E + 1,037 86 86 86 | E5PY 1238
31700 ¥ ¥ Y 60 9, 828 1,728 1,728 1,188 | B 6111
31800 139 N A 4 2,722 130 130 130 | B 213K
31900 X 10 6, 847 756 756 594 | B 10kg
31420 | E¥ 594 119 119 119 | BH 53
35100 W AT A 545 378 270 270 BN 2kg
35101 H—~LEEIE 1,037 648 648 648 BN 2kg
35220 | % b XD 23 8,527| 594 270 216 | BN 23kg
35303 ARGV TEZAES % 14,445 648 648 594 | BN 23kg
Y3033 ZHAL 16 864 54 54 54 | B 16kg
36501 o< FaiE 20 1,296 65 65 65 | M 20kg
33400 L& & 26 6, 005 130 108 108 | &MY 521
33300 Tmy @Y — 23 10, 665 146 146 135 | &MY 751
38100 LW =iF | 2 3, 024 1,512 1,512 1,512 BW 2kg
31310 LT3 | 2 346 86| 86 86 | B 43k
31500 /A 1, 069 59 59 59 BN 1871
46108 | E IO 17 20, 088 356 356 335 B 585y 7 |
71011 A7 L—%5 42, 444 .81 65 65 | BN 5904
71150 LT 810 70 70 11 BH 203
71160 B73 (3) 1,188 54 54 54 BN 2271
Z1160 BF3E (1) 8,316 12 12 12| B 70074
53456 Tm77RiE 2,186 497 497 497 | BN 4kg
39870 Z it 1, 944 540 540 540 BN 4kg
Y3028 |k 10 2, 160 216 216 216 | BN 10kg
Y3032 b B¥ 1, 944 324 324 324 BN 6kg
Y3048 T v ¥ a vl 1,134 324 324 324 | BN 4kg
30100 7V Z A 68 5,270 108 54 43 | 804
30100 Wz A B 60 4,428 756 756 702 | EIRS 645
30300 A% L. 100 14, 688 1,728 1,296 1,296 E 1047 — A
30400 ZIE D 11 1, 231 32 32 32 | dcEiE 3848
30600 LA Z A M 4 216 216 216 216 =& 17 —2
31100 H¥ 105 11, 340 1,728 1, 620 1,512 | EIRE T —2Z
33500 H T4 324 108 108 108 | #& il 3
33810 HEE 2,700 2,700] 2,700 2,700 ERE 17 —2
33810 FHiE3E 2, 808 140 140 140 |FEIR B 2048
Y5005 4 7K%E A 1,534 1,534 1,534 1,534 | K%y 1 —=
31700 F XY 110 18, 144 1,944 1, 620 1,512 | ERE 117 —2
31800 X HiLAE 8 6, 480 162 162 162 |EIRE 404¥




4 Hoe: N i #=H
a— K sh4 2 (kg) w5 (M) =il g il PE (B47)
31930 Z X 3 2,916 97 97 97 | IL 3048
32800 1T S 4 2,700 76 65 65 | = I 4071
34300 723 2L 15 5, 184 1,728 1,728 1,728 HEA 3 —R
34100 /K 35 18, 468 2, 700 2,700 2, 484 | E IR T —2A
34200 FF)K 50 5,616 1,188 1, 080 1,080 ‘=% 54—
34200 RF§K 40 11, 232 4,320 4,320 1,296 | FEIR & 44— 2
34571 N T U A GR) 2 1,080 108 108 108 | e[ 101&
34572 SNTFU T (GE) 1 1,361 151 151 151 | E&[E 91
36200 HEEHE 200 61, 560 3, 240 3, 024 3,024 | Eig 204 — A
36600 7-FnE 2L 160 13,176 1,728 1, 620 1,620 JbygiE 87— A
37200 L x 948 2L 12 3,132 1, 404 864 864 | F[E] 37—
33400 L& % 53 9,072 43 32 32 | B 26418
Y3127 U Y—7 6 2,430 86 86 76 | LB 3048
32900 B Y — 2 540 270 270 270 | &[] 2
38100 A LW =iF 8 7,798 108 97 97 | B I 80,3y 7
31500 /A 8 4, 752 130 130 108 |EIRE 4048
32500 ZxoiF 1 778 97 97 97 f& [ 83
36340 T LNz HHE 20 7, 560 378 378 378 | FERE 20kg
37560 BBIT 1 2, 430 324 324 270 | K45y 8y
38300 72 5 2,160 43 43 43 | Bl 5048
38400 x DX 5 2,160 2,160 2,160 2, 160 | EI¥ 14—z
38400 X DEH 10 4,617 49 49 43 | Rl 1004%
40100 HArA 170 9,936 702 594 432 |FEA 174 — A
40100 FrnA 130 5,454 | 594 594 |78 1347 — R
40100 ZdA 2L 40 1,296 324|324 324 | EhE 4ir— R
40100  FhA S 20 7, 560 3, 780 3, 780 3,780 EIRE 25—
Y4005 AL 15 7,236 7,236 7,236 7,236 7T AUH 17 —R
Y4017 Yo 50 10 7,020 7,020 7,020 7,020 | %75 17—
43610 EHEMNE c 2L 25 5,076 1,080 972 972 | %G 5 — R
46108 = MED 0 6 3,110 216 140 140 RS 20,5y 2
49100 /SFF : 180 15, 552 1,620 864 8647 1 UEY 157 —x%
&t 1,997 458,924
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